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That is for the closer one has precedent - 27 2P 2P0 NI

Overview

The Xn»12 states that the three 12%X3 which are written by an *121% 25717 v"v.! teach
us that all redemptions follow this order. The X773 negates that this is regarding °n2
7 oY and SRS T5117 3"V but rather it refers to 2°%nn °n2 and AMAR 77w, The
Xnx asks but by these two the 7710 already states that they are 0°217p2 P83, The
X3 answers that it teaches us that by those two also 272 2192 117p. The closer
relative takes precedence to redeem. m»oIn explains the need for the three 11783

- ZN‘\? 413 aN5T AHNN NTYIAY DXI8NN N2 TN NN TN INN NIINRN NYHY)
And regarding the three 1%83>; one comes for itself (1217 1omin7 ¥"v) that the
order of 773 is a7y 217 1171, and one is for both 239377 "n2 and AMAR TR,

who are considered as one since they are written in one P09 (these two 11983 teach

us 7P 2P 1PN) —
$9NND XYY 1Y 9NN WY TNy

Ans one 117X is expounded; "1P83' to this one (the >1017 10217 V"'Y), he is PR
0°217p2, but not the other one (an X w5 73237 ¥"V is not 222172 HRAI).

Summary
Two 1%8% are for 7P 2P 2P0 (by °121% 75117 ¥V and 2807 "N ANAR ATW);

the third is to exclude X 719117 ¥"Y from 2°217p NN,

Thinking it over
1. Initially when the X3 wanted to utilize the 1982 to include 71 v °n2 and ¥"y

SRW% 19717, what would the RS 891 7319 11983 come to exclude?

2. Do we require a "12°7 to include X% 7037 ¥"y for 0217p NPIRA, or do we
require a VW to exclude PR 157217 ¥"'Y from 2°217P NIRA?

"v-mm, 73 (A7) XPM (regarding an >731% 10037 ¥"Y) reads; 177 12 IR 177 1% 02 29RP POND TOR T2 00 APRI 301 AR AN
ORI T2 7T IR DR IRnowRn 112 IRED X 1uYRY.

? The P05 of awn> yIRT 37w %Y (in X2,75 [172] X)) regarding 2°7%nn °n2 links it with AnnR 77w, so they are
considered as one.
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